2/o do/dn,

Ratio to TASSO

=
o

=

1074

107>

[EEY

0.5

14 GeV ee vy*/Z (Hadronic)

T I T I T I T I T | T I T I T I T I | T I T I T I T
= Charged Multiplicity (ct > 100mm) =
— T -
B ’ | -
- n LN =
C : | ]
E_ / s\\ . _E
- = LS =
| L __
~ W g .
=~ m TASSO @ e
— - g- Pythia 6.428 391 =
— --<-- Pythia 6.428 393 N
= - - Pythia 6.428 394 R I
= - .v- Pythia 6.428 395 ¢ 3
S T HU SO S =
B ! F— ]

& . g
- \‘!\ | 1
o Al -
- \ —
\
B \ |
\

" 1 1 1 1 " | " 1 " 1 " 1 " 1 .“ | " 1 1 1

0 10 20

Rivet 3.1.10, = 2.7M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


